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p-4 1 £.10: Eulcid — Euclid

p17 1 £.9: \* — u*

p41 1t 604,7, 11, 12: Zermero — Zermelo
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p.57 £.5: BRDHG — BRI L 2 EEDHHK
pb7T L5 fTr={ = fYA)={"-
pH9£€3:g: X—>Y - g:Y =27

p-69 £.9: p({p <oo}) = u({p = oo})

p-76 £.8: d\ — dt
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p.84 1£.6,9: = — < (37 Fi)
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p.100 1 £.9: £l — e
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p.105 1 £.2: Epy =— By =
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p.106 £.9: afy] — afy]
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p112 £.2: |alllf] — lalllg

p.115 1 £.6: LX(A) — LZ(A,E, 1;K)



p.115 1 £.4: L®(A) — LZ(A,E, 1;K)

p-117 £.6: [0l zocay = ol 7o a)

p.119 1 £.3: LP(A) — LP(A)
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p121144: k— o0 = n— o0

p.121 1 £.1: L®(E) — L®(A)
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p-123 £.6: Tim |[[on] = []llLr(a) = Hm [|lpn] = [¢lllLra) =0
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p.128 £.9: o € LX) — ¢ € LY(X)
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p.139 1 £.12: v(EY) — u(EY)

p.139 1 0.4: E, — (Ey),

p.143 1 00.8,10: £ .F — & X F

p.149 1 £.3: {IE o-AR — WEE LT o-AR
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p.172 1 .4 EBIERALILE — FERERHE
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G fei
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p.185 £.9: A AEET 5 — FEOAIREE T 5
p.185 1 £.5: dx,, — dxy

pp-188-190: il 4.7.1 13X D & 5 IZIELE
HEE5C LB c #ZNFNH 1.6.5 TH X7z Cantor & & Cantor BAE &
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T faEHET 5D,
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LT ly—wl Se yel0,1] THNIX c(y) =c(yo) £785. yo >0 TH D
FITERS L
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THBHDT, flX f(0) =0, f(1) =1 LR 2IFE|MPEKE 5, £ T,
z<0TE f(z)=0,2>1 Tl flx) =1 LEHEHZIRT 2, fIFR L
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A(C [0,1]) % Lebesgue HIEIZBEI L THHITAWES (R1.62%2 R L) & L.
B = f(4)

LB, BCCTHY, Cld) CBHUTEES (11.66) THHDT.
Bt M\ ICHLTEEATHS, FIZ Be Z(R) THhbD, £oT, x, &
ZL(R)-WJTH 2,

COXDITEHRIN f & x, DA x, o f ITDWVT,
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= (f71(B)" = (f 1 (f(A))" = 4A°
LB, Al Z(R) THEATRNDT, A° b 2(R) AHEA TR,

XoT, M 221 K0, x,of & Z(R)-FTHITHRVWELGN S, {EoT,
B(R)-AHITEH RN,

MERTHBHN. £([0,1]) FIRDE 51275, ¢(0) =0 &b, inf{t € [0,1] | c(t) =
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DEBEIF O =0 IRIRTAEE LT,

mo—1 mo—1

am(yr) | 1 an(y) 1 _ = am(y)

m\JYk m m

C(yk) = ZO 2m+1 + 2m0 = ZO 2m+1 + 2m0 = ZO 2m+1 = C(y)
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inf{t € [0,1] |e(t) = c(y)} #y
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L%, Tk ¢ WIS (M1.6.9) THHHLD,
inf{t € [0,1] | c(t) = c(y)} =y
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f(0.1) ={0}u{yeC|tM =0} G C
MR nd,
p-190 £.11: Haudforff — Hausdorff
p-192 £.5: =— <
p.200 1 £.5: v U ENG) = vF%(ENF)
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d
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p-417 1 £.11: {3.24 — [§3.2.5

DAIT 1095 (@l ey = ol ) (2 )
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